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If the two middle terms of the

)2n+1

. 2 1
expansion ( x° + -

are equal ,then x =
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5
If p, = 5py where X #Yy

then x +y=




21
If Z,=—
1= 94

Z, =4 (cos 150° +isin 150°)
Find: Z, + (21)2 in the exp. form
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If 30°, 60°, 0 ° are the
direction angles for a vector ,

then one of the values of 6= ....
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Find the coefficient of the largest

: : 1 6
term in the expansion ( x + ™ )
then prove that the tern free of x is
the middle term
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If the two vectors

A=3,4,k), B=(4,0,-1)
are perpendicular , then

IA]=...
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Each of the following matrices
has a multiplicative inverse
except the matrix







Find the equation of the sphere in
which AB is a diagonal on it where
A(1,4,2),B(3,-2,6),
then find the different forms of the
equation of the straight line AB
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Prove that the two planes O el () )

(A =gY \
2X+Y+2Z=84X+2Y+4Z=10 glroa o
are parallel, then find the distance Vo =g ttgaY ot
between them g 2ml) 23 g 34 5 sie




The conjugate of the number
2 .
1S

s Y+ Y el 38 g




If the two straight lines

r=(1,2,4)+k(2,-1,1)
x—1 _y-1 _z-1
-2 7 m
perpendicular then m =

are

H
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If "p, =120 , then the sum of
the possible values of ;- equals

i gsana (8 Yy =~ 1Y




if A.B =vV3||A x B|,then
the measure of the angle between
the two vectors Aand B =...

|u X || _\, oS 1y
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30°
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45°

60°




If the sum of the coefficients of Tj . |
and T, in the expansion of (1 +x )" | «—¢& v & lbos g S 1Y

. '1+V Lm.u’u + 1) oS
equals N+ 6n+5 find the value bl Vs Yot ) dosia




without expansion of the
determinant , prove that :

1




The measure of the angle between the
twoplanes 7. (1,1,2)=7 ,

2X-Y+Z=6 equals=

30°

45°

60°




Find the trigonometric form for the
values of the expression
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Find the rank of the matrix il 45 A a g

2 -1 -3
(1 2 1 ) Y — v
3 =5 2

,then prove that the equations
2X—-Yy—-32=2, X+2y+z=1 NV aleall o il B e g
have a unique solution. then sy Ja LI VY = EX A o= ¥

find this solution using the
multiplicative inverse of the
matrix
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The sum of the parts that the
plane 3x+2y+4z=12
intersects from the axes =
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